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QUESTION 1

Which are two uses of the NSX DLR protocol address? (Choose two.) 

A. When configuring BGP the protocol address is used to forward traffic to peers. 

B. When configuring BGP the protocol address is used by the protocol to form adjacencies with peers. 

C. When configuring OSPF the protocol address is used to forward traffic to peers. 

D. When configuring OSPF the protocol address is used by the protocol to form adjacencies with peers. 

Correct Answer: BD 

 

QUESTION 2

An administrator creates a SpoofGuard policy for specific networks. Which two modes are associated with this type of
policy? (Choose two.) 

A. Automatically trust IP assignments on their first use 

B. Manually inspect and approve all IP assignments before use 

C. Manually approve IP assignments listed in the Host file before use 

D. Automatically inspect and trust IP assignments on every use 

Correct Answer: AB 

 

QUESTION 3

Which virtual machine does VMware recommend be manually excluded from the Distributed Firewall? 

A. NSX Manager 

B. Microsoft SQL Server 

C. vRealize Automation Appliance 

D. vCenter Server 

Correct Answer: D 

 

QUESTION 4

A user needs to be given the ability to make configuration changes on a specific NSX Edge device. What role and scope
could be used to meet this requirement? 

A. NSX Administrator role and Limit Access scope 
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B. Security Administrator role and Limit Access scope 

C. NSX Administrator role and No restriction scope 

D. Security Administrator role and No restriction scope 

Correct Answer: B 

 

QUESTION 5

An administrator has been asked to provide single failure redundancy. What is the minimum supported number of NSX
Controllers needed to meet this requirements? 

A. 2 

B. 3 

C. 1 

D. 5 

Correct Answer: B 
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